
CH46 - 88110

  NOOK CORNER UNIT 
UNITÉ DE COIN-REPAS

PIEZA PRINCIPAL DE COMEDOR ESQUINERO



# 90366WAL-01-KD
# 90366N2-01-KD

CH156 - 89288

  NOOK CORNER UNIT 
UNITÉ DE COIN-REPAS

PIEZA PRINCIPAL DE COMEDOR ESQUINERO



- 2 -



#16

#5

#6

#29

#4 #2

#30
#7

#29
#29 #29

#14

#18 #17

#31

#30

#29

#15

#10

#1

#30

#2

#12

#13

# #11

#29

#

#8

#16

#5

#6

#29

#30
#7

#29
#29 #29

#14

#18
#3

#17

#31

#30

#29

#15

#10

#1
#30

#12

#13

#9 #11

#29

#9

#14 Corner bench - seat / Banc du coin - siège / Banco esquinero - asiento 01

#1

#2

#3

#4

#5

#6

#7

#8

#9

#10

#11

#12

Middle leg / Pied médian / Pata medianera 02

Single bench - apron / Banc simple - jupe / Banco simple - reborde 02

01

Single bench - bottom panel / Banc simple - panneau inférieur / Banco simple - panel inferior 01

01

Left outside leg / Pied extérieur gauche / Pata exterior izquierda 01

Single bench - seat / Banc simple - siège / Banco simple - asiento 01

Right outside leg / Pied extérieur droit / Pata exterior derecha 01

Double bench - apron / Banc double - jupe / Banco doble - reborde 02

Corner bench - top panel / Banc du coin - panneau supérieur / Banco esquinero - panel superior 01

Double bench - bottom panel / Banc double - panneau inférieur / Banco doble - panel inferior 01

01

Corner bench - back panel / Banc du coin - panneau arrière / Banco esquinero - panel posterior

Single bench - back panel / Banc simple - panneau arrière / Banco simple - panel posterior

Double bench - back panel / Banc double - panneau arrière / Banco doble - panel posterior

- 3 -

#13 Double bench - seat / Banc double - siège / Banco doble - asiento 01



#15

#16

#17

#18

#29

#30

#31

Corner bench - back panel / Banc du coin - panneau arrière / Banco esquinero - panel posterior

Corner bench - back panel / Banc du coin - panneau arrière / Banco esquinero - panel posterior

01Double bench - top panel / Banc double - panneau supérieur / Banco doble - panel superior

01Single bench - top panel / Banc simple - panneau supérieur / Banco simple - panel superior

01

01

06Support panel / Panneau de support / Panel de soporte

05

01

Support panel / Panneau de support / Panel de soporte

Corner bench - support panel / Banc du coin - panneau de support / Banco esquinero - panel de soporte

- 4 -



- 5 -

IMPORTANT: 
1. Do not tighten bolts completely until all bolts are completely lined up and inserted into holes / nuts.
2. Do not over tighten screws and bolts to avoid stripping.
3. Please use hand tools to assemble this product. Do not use power tools.

IMPORTANT: 
1. Ne serrez pas complètement les boulons jusqu'à ce que tous les boulons soient complètement alignés et
insérés dans les trous / écrous.
2. Ne pas trop serrer les vis et les boulons pour éviter d'endommager les filets.
3. Utilisez des outils à main pour assembler ce produit. N'utilisez pas d'outils électriques.

IMPORTANTE: 
1. No apriete completamente los pernos hasta que todos los tornillos estén alineados completamente y se
inserten en los agujeros / tuercas.
2. No apriete demasiado los tornillos y los pernos para evitar dañar los filetes.
3. Utilice herramientas de mano para montar este producto. No utilice herramientas eléctricas.

Not supplied / Non fourni /
No incluido

Philips screwdriver / Tournevis philips /
Destornillador estándar

A 36

B 04

C 04

D 57

E 16

F 08

K 08

L 04

Screw (5x35mm) / Vis / Tornillo

Screw (5x25mm) / Vis / Tornillo

Screw (5x50mm) / Vis / Tornillo

Screw (3.5x15mm) / Vis / Tornillo

Wooden plug / Bouchon en bois / Tapón de madera

Metal plate / Plaque de métal / Placa de metal

Wood dowel (8x30mm) / Goujons de bois /
Tarugo de madera

Pin / Nip / Pin



 Step / Étape / Paso:
 1, 2, 3, 4, 5, 6, 7, 8, 9, 10, 11, 12, 13, 14, 15, 16, 17, 

 Step / Étape / Paso:
 1, 18, 19, 20, 21, 22, 23, 24, 25, 26, 27, 28, 29, 30,31, 32, 33

- 6 -

#6



#8

#29

#6

#7

#13

#1

#1

1.

#29

D
D

D

#29

#29

#29

#29

#30

#30

#30

#30

#30

#13

#30

#30

D 33

- 7 -



A

A A

2.

3.

#2

#2

#2

#2

#2
#4

#1

#1

#1

- 8 -

A 05

E 02

E



A#5

#2
#2

#7

#7

#6

#5 #5

#4

#5

#1

4.

5.

- 9 -

E

#1

A 02

E 02

#2
#2

#6

#5

#4

A
A

E

E

C

C

02

E 04

A 07



A
A

A

E

6.

7.

- 10 -

#1

#1

#9

#9

#9

#11

#9

#9

A 05

E 02



8.

9.

- 11 -

#9

#9

#1

#1

#11

#12

#12

#13

#13

#8

#8

#9
#1

#12 #12

A

A

02

E

E
E

E

02

#13

A
A

A

C

C

02

E 04

A 07



10.

11.

- 12 -

BB

#14

#14

#1

#1

#1

#14

B

#1

#1

#1

#17 #18

04

D

D

D

D

06

#1

#17

A

A

A

04

A

A

A

04



12.

13.

- 13 -

#3

#3

#17

#15

#15

#10

#3#17 #18

#5

#16

#12

#12

#18

D

D
D

D

#3

#14

#17 #18

D 08

D 08

#15



14.

15.

- 14 -

#12

#1L

K

#10

#31

#3

#3

D

D

#31

#10

K

#1

#5

#17 #18

D 02

L 04

K 08



16.

17.

- 15 -

#6

#6
F

#8

F 08



A

A A A

18.

19.

- 16 -

#1

#9

#9

#9

#11

#9

A 05

E 02



20.

21.

- 17 -

#12

#12

#13

#13

#6

#6

#9

#1

A 02

E

E
E

02

A
A

A

C

C

02

E 04

A 07

#13

#9

#9

#1

#1

#11

#12

#12 A

E



22.

23.

#2

#2 #4

#1

- 18 -

A 05

E 02

A

A

A

#2

#2

#2

#1

#1

E



24.

25.

- 19 - 

A 02

E 02

C 02

E 04

A 07

#2
#2

#6

#5

#4

A#5

#2#2

#7
#7

#8
#8

#5

#4

#5

#1
E

#1

E

E



26.

27.

- 20 -

B 04

D 06

A 04

A 04

B
B

#14

#14

#1#1

#1

#1#1

#1

#17 #18

#18

D

D

D

A

A

#14

#1



28.

29.

- 21 -

D 08

D 08

#3

#14

#18

#15

#3

#3

#17

#15

#15

#16

#10

#3#17 #18

#5
#12

#12

#18

#18 D

D
DD

D



30.

31.

- 22 -

D 02

L 04

K 08

#10

#31 #3

D

D

#31

#10

#12

L

K
K

#1
#1

#5

#17 #18

#18



32.

33.

- 23 -

F

#6

#6
F

#8

08



MADE IN CHINA 
FABRIQUÉ EN CHINE 
HECHO EN CHINA

CH46 - 88110



MADE IN CHINA 
FABRIQUÉ EN CHINE 
HECHO EN CHINA

CH156 - 89288



CH46 - 88110

  NOOK BENCH 
BANC DE COIN-REPAS

BANCO DE COMEDOR ESQUINERO



# 90367WAL-01-KD
# 90367N2-01-KD

CH156 - 89288

  NOOK BENCH 
BANC DE COIN-REPAS

BANCO DE COMEDOR ESQUINERO



- 2 -



- 3 -

#24 01

#25 02

#26 02

#27 02

#28 01

#24

#25

#25

#26

#26

#27

#27

#28

Long bench - seat / Long banc - siège / Banco largo - asiento

Long bench - rail / Long banc - rail / Banco largo - riel

Long bench - leg / Long banc - pied / Banco largo - pata

Long bench - base / Long banc - base / Banco largo - base

Long bench - cross bar / Long banc - barre transversale / Banco largo - barra transversal



D 04

E 08

F 02

G 12

H 02

I 02

Screw (5x50mm) / Vis / Tornillo

Screw (5x25mm) / Vis / Tornillo

Screw (6x45mm) / Vis / Tornillo

Wood dowel (10x50mm) / Goujons de bois /
Tarugo de madera

IMPORTANT: 
1. Do not tighten bolts completely until all bolts are completely lined up and inserted into holes / nuts.
2. Do not over tighten screws and bolts to avoid stripping.
3. Please use hand tools to assemble this product. Do not use power tools.

IMPORTANT: 
1. Ne serrez pas complètement les boulons jusqu'à ce que tous les boulons soient complètement alignés et
insérés dans les trous / écrous.
2. Ne pas trop serrer les vis et les boulons pour éviter d'endommager les filets.
3. Utilisez des outils à main pour assembler ce produit. N'utilisez pas d'outils électriques.

IMPORTANTE: 
1. No apriete completamente los pernos hasta que todos los tornillos estén alineados completamente y se
inserten en los agujeros / tuercas.
2. No apriete demasiado los tornillos y los pernos para evitar dañar los filetes.
3. Utilice herramientas de mano para montar este producto. No utilice herramientas eléctricas.

Allen key / Clé hexagonale / Llave allen Supplied / Fourni / Incluido

Not supplied / Non fourni /
No incluido

Philips screwdriver / Tournevis philips /
Destornillador estándar

Nut / Écrou / Tuerca

Wooden plug / Bouchon en bois / Tapón de madera

- 4 -



#26

#26

#25

#26

#26

#28

#28

#25

#27

E

G

1.

2.

- 5 -

E 08

G 08

02

02

04G

G
G

H

H

I

I

#26

#25

#27

#26



#26

#26#26

#26

#26
#26

#24
#24

3.

4.

- 6 -

D 04

F 02

D

F



MADE IN CHINA 
FABRIQUÉ EN CHINE 
HECHO EN CHINA

CH46 - 88110



MADE IN CHINA 
FABRIQUÉ EN CHINE 
HECHO EN CHINA

CH156 - 89288



CH46 - 88110

  NOOK TABLE
TABLE DE COIN-REPAS

MESA DE COMEDOR ESQUINERO



# 90368WAL-01-KD
# 90368N2-01-KD

CH156 - 89288

  NOOK TABLE
TABLE DE COIN-REPAS

MESA DE COMEDOR ESQUINERO



- 2 -



- 3 -

#19 01

#20 02

#21 02

#22 02

#23 01

#19

#20

#20

#21

#21

#22

#22

#23

Table top / Table - dessus / Mesa - encimera

Table leg / Table - pied / Mesa - pata

Table rail / Table - rail  / Mesa - riel

Table base / Table - base / Mesa - base

Table - cross bar / Table - barre transversale / Mesa - barra transversal



- 4 -

D 08

E 08

F 04

G 10

H 04

I 04

Screw (5x50mm) / Vis / Tornillo

Screw (5x25mm) / Vis / Tornillo

Screw (6x45mm) / Vis / Tornillo

Wood dowel (10x50mm) / Goujons de bois /
Tarugo de madera

IMPORTANT: 
1. Do not tighten bolts completely until all bolts are completely lined up and inserted into holes / nuts.
2. Do not over tighten screws and bolts to avoid stripping.
3. Please use hand tools to assemble this product. Do not use power tools.

IMPORTANT: 
1. Ne serrez pas complètement les boulons jusqu'à ce que tous les boulons soient complètement alignés et
insérés dans les trous / écrous.
2. Ne pas trop serrer les vis et les boulons pour éviter d'endommager les filets.
3. Utilisez des outils à main pour assembler ce produit. N'utilisez pas d'outils électriques.

IMPORTANTE: 
1. No apriete completamente los pernos hasta que todos los tornillos estén alineados completamente y se
inserten en los agujeros / tuercas.
2. No apriete demasiado los tornillos y los pernos para evitar dañar los filetes.
3. Utilice herramientas de mano para montar este producto. No utilice herramientas eléctricas.

Allen key / Clé hexagonale / Llave allen Supplied / Fourni / Incluido

Not supplied / Non fourni /
No incluido

Philips screwdriver / Tournevis philips /
Destornillador estándar

Nut / Écrou / Tuerca

Wooden plug / Bouchon en bois / Tapón de madera



1.

2.

- 5 -

E
#21

#20
#22

08

G 08

#21

#20
#22

04

04

02G

G

H

H

#23

#23

#20

#20

#20

H

I

I
I

E#21

#20
G

#21

#20



3.

4.

- 6 -

#19
#19

#21

#20

#20

#21

#20

#21

D

D D

08

F

F

F 04



MADE IN CHINA 
FABRIQUÉ EN CHINE 
HECHO EN CHINA

CH46 - 88110



MADE IN CHINA 
FABRIQUÉ EN CHINE 
HECHO EN CHINA

CH156 - 89288


	90366N2-01-KD_AI
	90367N2-01-KD_AI
	90368N2-01-KD_AI

